
3. Languir me fait Claudin de Sermisy




















 












   


 












1)






  
  






























  


 





    















5





 
 


 








 
  

















































  




















 




10 











 
 




   



  







    








 
























  
  


15







 



































    







 
  





























   




  












20 
















  

PL-Kj:Uniwersytet Jagiellonski mus.ms.w510 (c1565), f. 2. Encoded and edited by Sarge Gerbode.

1) Note one course higher in orig.
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2) Note one course higher in orig (overstrike missing).
1) 1st 2 rhythm flags double value, 3rd one ½ value in orig.


